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i =

(B4 5]« AARND )

A F64E6 H A H BL{E
HT HK A0 (58) A (40) An GH
H #HT 480 388 389 777
AT 1,754 1, 656 1,789 3,445
JHET 970 900 826 1,726
== 1T 1,285 988 1,068 2, 056
FFHT 1,969 1,829 1,891 3,720
JTHT 1,693 1,708 1, 860 3, 568
i 859 926 975 1,901
A AET 624 515 564 1,079
At ZEHT 895 849 877 1,726
BT 684 617 624 1,241
HAET1 T H 897 849 858 1,707
HARET2 TH 804 777 767 1,544
PEFTIR 1 T H 2,196 1,819 1,957 3,776
VEETIR 2 T H 976 872 912 1,784
FRET 1T H 1,589 1, 305 1,646 2,951
T2 TH 1,256 935 1,120 2,055
kAT 3 T H 1, 460 1,432 1,549 2,981
T4 TH 2,903 2,646 2, 881 5, 527
SRHET 944 895 949 1,844
FRAEHT 1,194 1,139 1,230 2, 369
EFIT1 TH 514 443 489 932
EJFET2 TH 772 826 779 1,605
KT 3 T H 728 714 697 1,411
EJFIT4 TH 223 222 221 443
EJFET5 TH 497 467 518 985
AL P IR BT 1,120 1,133 1,085 2,218
[ B AT 1,595 1,623 1,762 3,385
FiEs 1,217 1,241 1,294 2,535
E1TH 425 455 496 951
EE 2 TH 645 738 757 1,495
tE3TH 464 521 518 1,039
EE4 T H 408 513 492 1,005
FAZENT 1,427 1, 055 1,090 2,145
=L 709 684 729 1,413




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

S F64E6 A K HHIUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,022 807 1,002 1, 809
ERNET 977 1,088 1,079 2, 167
KETHH 168 95 153 248
[icg gzl 865 905 860 1,765
HOHTHHT 1,009 1,069 1,067 2, 136
KFEHE 1,746 2,016 1,990 4, 006
KFFRIL 1,529 1,526 1,591 3,117
Al - /N 6,219 6, 342 6, 350 12, 692
KT TNLEm 4,969 5,393 5, 385 10, 778
KR EE 4,837 4, 580 4,645 9, 225
WAL 952 791 840 1,631
[EREa 493 401 408 809
S 1,536 1,395 1,479 2,874
EoE1TH 567 555 525 1,080
BEo=2TH 719 646 660 1,306
KFEA K 4,839 5, 000 5, 064 10, 064
KFEFIE 3,414 3,598 3, 643 7,241
KFA 11,089 11,440 11,999 23, 439
K7 Eilin 2,000 2,033 2,019 4,052
/INFFRET1 TH 2, 627 2, 305 2,681 4,986
/INFFRET2 TH 1,296 1,239 1,191 2, 430
/INFFRET3 TH 2,433 2,178 2, 453 4,631
/INFFRET4 TH 1,616 1, 492 1,518 3,010
KEd s 1,063 1,138 1,131 2,269
KFEFE 2, 359 2,526 2, 628 5, 154
KFAH A A 734 617 720 1,337
== = 863 988 985 1,973
KFEdsit 80 111 90 201
1 T H 916 975 1,012 1,987
2 TH 995 1,102 1,108 2,210
B3 T H 880 767 892 1, 659
B4 TH 677 685 782 1,467
w5 TH 790 780 860 1,640
KREWRZ T 317 305 319 624
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BI64E6 H K H B
my 4 A AR (B AR (&) AR GH
KT 205 249 230 479
KPR 801 935 960 1,895
RF-H HH 141 177 175 352
KFBTH 152 186 166 352
KFHIH 16 20 19 39
KFFE A 463 541 490 1,031
Pl 1 TH 1,063 1,007 1,141 2,148
il E2TH 1,136 1,128 1,183 2,311
=M1 TH 930 979 1,053 2,032
M2 TH 349 318 392 710
3 TH 831 837 883 1,720
A TH 1,195 1, 107 1,157 2,264
HRLAr 1 TR 1,645 1, 462 1,595 3,057
WL F2 TH 1,419 1,531 1,544 3,075
Bkl 3 TH 784 826 921 1,747
WL F4 T H 385 233 315 548
WL E5 T H 156 148 170 318
WL 6 TH 588 488 569 1,057
Pl 1 TH 1,076 1,093 1,075 2,168
w2 TH 327 334 367 701
farE1TH 1,509 1,433 1,398 2,831
My 2TH 697 725 745 1,470
M3 TH 856 821 820 1, 641
#1TH 277 345 300 645
H2TH 269 321 324 645
#3TH 1,393 1,391 1, 455 2,846
= &1TH 366 426 397 823
= E2TH 186 214 214 428
= &3TH 290 356 339 695
=E4TH 431 484 452 936
—&5TH 636 714 703 1,417
Heo 356 412 393 805
| 226 273 274 547
WA2TH 954 915 907 1,822




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

SFn64E6 H K HHAE
i) % A (59) AB (%) UNEGD)
WA3TH , 055 1,344 1,487 2,831
WAR4TH 101 75 109 184
WA7TH 332 343 367 710
WA TH , 532 1,129 1, 360 2,489
FRER1ITH , 734 1,819 1,875 3,694
FRER2TH 931 987 967 1,954
1 TH 234 251 266 517
2 TH 519 609 649 1,258
It 3TH , 042 1,121 1,172 2,293
4 TH 60 77 71 148
e [ B 368 442 407 849
bR T 606 551 622 1,173
AT IR 591 698 724 1,422
WETIR1 T H , 496 1,470 1,323 2,793
WATIR 2 T H , 391 2, 637 2,433 5,070
WRETIR 3 T H , 541 1,626 1,448 3,074
WATIR 4 T H 454 521 477 998
WAETIR5 T H 835 774 752 1,526
WATRFIE 1 T H , 341 1, 456 1,287 2, 743
WHATRAIE 2 T H 351 1,386 1,299 2, 685
WHTRAIE 3 T H 868 944 868 1,812
<TDEHE1ITH 443 300 369 669
<TDEH2TH 720 663 597 1,260
<TDEHE3ITH 870 714 801 1,515
HER 1T H 152 156 140 296
TER2TH 409 513 497 1,010
HEm 3 T H 543 604 587 1,191
TER4TH 592 638 638 1,276
MMRE1TH 677 742 767 1,509
MMRE2TH 712 757 833 1,590
INFFRFE1TH 546 592 658 1, 250
INFEFRFE 2 TH 545 571 604 1,175
INFfER 3T H 900 1,011 979 1,990
INFfER4 T H 806 978 948 1,926
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BI64E6 H K H B
i) W A (59) AR (&) AR GH
INFHER 5 T H 565 766 687 1,453
/INFFERG 6 T H 609 595 626 1,221
/INFFEET 5 T H 581 592 583 1,175
WNFRRTET 1 T H 791 786 766 1,552
/WNFfRTET 2 T H 564 614 601 1,215
/NFFRTHT 3 T H 851 1,063 1,068 2,131
JEEFHHET 1 T H 90 102 115 217
LB 2 T H 26 36 21 57
¥ 1 TH 293 324 322 646
¥ 2 TH 156 184 181 365
¥ 3 TH 191 141 199 340
B 1 TH 99 122 120 242
kB2 TH 141 174 172 346
B3 TH 142 168 178 346
EFH1TH 840 825 813 1,638
E#FH2TH 1,270 1,385 1,342 2,727
EHFIE3ITH 1,420 1,566 1,574 3,140
EHFI4TH 1,346 1,446 1,575 3,021
EHFIESTH 1,717 1,921 1,948 3, 869
INEEE 875 950 950 1, 900



















